	iversity - Higher Education 2017 Postgraduate Course Fees			Publ	ished 10 March	2017		
	cative fees are based on a standard full-time or equivalent study load for 2017.							
The indicative cou	rse fees listed below are only for 2017 commencing postgraduate students. Actual anr	nual fees are based of	n the units	that you are enrolle	d in for the current	year.		
Course Code	Course Name	Course Level	Course fee type 1-CSP 2-FFP 3-BOTH	2017 Indicative Annual student contribution amount for a Commonwealth Supported place	2017 Indicative Course contiribution amount for a Commonwealth Supported Place (CSP)	(FFP)	2017 Indicative Course tuition fee for a Domestic Fee- paying place (FFP)	Duration (Standard Years)
CP-AVOSS2	Professional Certificate of Aviation (Operational Safety Systems)	Postgraduate	2	-	-	\$6,470.00	\$6,470.00	0.25
GC-ARTWRI	Graduate Certificate of Arts (Writing)	Postgraduate	2	-	-	\$11,240.00	\$11,240.00	0.5
GC-AVHF	Graduate Certificate of Aviation (Human Factors)	Postgraduate	2	-	-	\$12,940.00	\$12,940.00	0.5
GC-AVMGT	Graduate Certificate of Aviation (Management)	Postgraduate	2	-	-	\$12,940.00	\$12,940.00	0.5
GC-AVPIL	Graduate Certificate of Aviation (Piloting)	Postgraduate	2	-		External	External	Max 2 years
GC-BADMI1	Graduate Certificate of Business Administration (International)	Postgraduate	2	-	-	\$25,864.00	\$25,864.00	1
GC-BIS	Graduate Certificate in Business Information Systems	Postgraduate	2	-	-	\$25,440.00	\$25,440.00	1
GC-BMFM	Graduate Certificate of Business Management (Fleet Management)	Postgraduate	2	-	-	\$12,932.00	\$12,932.00	0.5
GC-BUS	Graduate Certificate of Business	Postgraduate	2	-	-	\$12,932.00	\$12,932.00	0.5
GC-BUSADM2	Graduate Certificate of Business Administration	Postgraduate	2	-	-	\$12,932.00	\$12,932.00	0.5
GC-BUSADM2S	Graduate Certificate of Business Administration	Postgraduate	2	-	-	\$12,932.00	\$12,932.00	0.5
GC-BUSMGT	Graduate Certificate of Business Management	Postgraduate	2	-	-	\$12,932.00	\$12,932.00	0.5
GC-CMGT	Graduate Certificate in Construction Management	Postgraduate	3	\$4,525.00	\$4,525.00	\$15,264.00	\$15,264.00	0.5
GC-COU	Graduate Certificate of Counselling	Postgraduate	2	-	-	\$13,101.60	\$13,101.60	0.5
GC-DESG	Graduate Certificate of Design	Postgraduate	2	-	-	\$11,240.00	\$11,240.00	0.5
GC-DSI	Graduate Certificate of Design Strategy and Innovation	Postgraduate	2	-	-	\$12,086.00	\$12,086.00	0.5
GC-EAMT	Graduate Certificate of Engineering (Advanced Manufacturing Technology)	Postgraduate	3	\$4,525.00	\$4,525.00	\$15,264.00	\$15,264.00	0.5
GC-ECS	Graduate Certificate of Engineering (Civil Structures)	Postgraduate	3	\$4,525.00	\$4,525.00	\$15,264.00	\$15,264.00	0.5
GC-ECV	Graduate Certificate of Engineering (Civil)	Postgraduate	3	\$4,525.00	\$4,525.00	\$15,264.00	\$15,264.00	0.5
GC-EEE	Graduate Certificate in Engineering (Electrical and Electronic)	Postgraduate	3	\$4,525.00	\$4,525.00	\$15,264.00	\$15,264.00	0.5
GC-ENTINN3	Graduate Certificate of Entrepreneurship and Innovation	Postgraduate	2	-	-	\$12,932.00	\$12,932.00	0.5
GC-FBS	Graduate Certificate in Forensic Behavioural Science	Postgraduate	3	\$3,174.00	\$3,174.00	\$13,101.60	\$13,101.60	0.5
GC-FINBAN	Graduate Certificate of Finance and Banking	Postgraduate	2	-	-	\$12,932.00	\$12,932.00	0.5
GC-FMHN	Graduate Certificate in Forensic Mental Health Nursing	Postgraduate	2	-	-	\$13,101.60	\$13,101.60	0.5
GC-HRM	Graduate Certificate of Human Resource Management	Postgraduate	2	-	-	\$12,932.00	\$12,932.00	0.5
GC-ISM1	Graduate Certificate of Information Systems Management	Postgraduate	2	-	-	\$25,493.00	\$25,493.00	1
GC-IT1	Graduate Certificate of Information Technology	Postgraduate	3	\$9,050.00	\$9,050.00	\$26,076.00	\$26,076.00	1
GC-LTHE1	Graduate Certificate in Learning & Teaching (Higher Education)	Postgraduate	2	-	-	\$8,060.00	\$8,060.00	0.5
GC-MCO	Graduate Certificate of Media and Communication	Postgraduate	2	-	-	\$11,240.00	\$11,240.00	0.5
GC-MGT	Graduate Certificate of Management	Postgraduate	2	-	-	\$12,932.00	\$12,932.00	0.5
GC-MKT	Graduate Certificate of Marketing	Postgraduate	2	-	-	\$12,932.00	\$12,932.00	0.5
GC-PACC	Graduate Certificate of Professional Accounting	Postgraduate	3	\$5,298.00	\$5,298.00	\$12,932.00	\$12,932.00	0.5
GC-PACCS	Graduate Certificate of Professional Accounting	Postgraduate	3	\$5,298.00		\$12,932.00	\$12,932.00	0.5

Course Code	Course Name	Course Level	Course fee type 1-CSP 2-FFP 3-BOTH	2017 Indicative Annual student contribution amount for a Commonwealth Supported place	2017 Indicative Course contiribution amount for a Commonwealth Supported Place (CSP)	2017 Indicative Annual tuition fee for a Domestic Fee- paying place (FFP)	2017 Indicative Course tuition fee for a Domestic Fee- paying place (FFP)	Duration (Standard Years)
GC-PM	Graduate Certificate of Project Management	Postgraduate	2	-	-	\$12,879.00	\$12,879.00	0.5
GC-RMGT	Graduate Certificate in Risk Management	Postgraduate	2	-	-	\$15,264.00	\$15,264.00	0.5
GC-SASTRO	Graduate Certificate of Science (Astronomy)	Postgraduate	2	-	-	\$9,760.00	\$9,760.00	0.5
GC-SCAS3	Graduate Certificate of Science (Applied Statistics)	Postgraduate	2	-	-	\$10,400.00	\$10,400.00	0.5
GC-SFARM	Graduate Certificate in Specialist Forensic Assessment and Risk Management	Postgraduate	2			\$13,101.60	\$13,101.60	0.5
GC-SOCIMP	Graduate Certificate in Social Impact	Postgraduate	2	-	-	\$12,932.00	\$12,932.00	0.5
GC-SSCHMP	Graduate Certificate of Social Science (Housing Management and Policy)	Postgraduate	2	-	-	\$9,760.00	\$9,760.00	0.5
GC-TECBS2	Graduate Certificate of Technology (Business Systems)	Postgraduate	2	-	-	\$25,546.00	\$25,546.00	1
GC-VRAM	Graduate Certificate in Violence Risk Assessment and Management	Postgraduate	2	-	-	\$13,101.60	\$13,101.60	0.5
GD-ARTWRI	Graduate Diploma of Arts (Writing)	Postgraduate	2	-	-	\$22,480.00	\$22,480.00	1
GD-AVHF	Graduate Diploma of Aviation (Human Factors)	Postgraduate	2	-	-	\$25,880.00	\$25,880.00	1
GD-AVMGT	Graduate Diploma of Aviation (Management)	Postgraduate	2	-	-	\$25,880.00	\$25,880.00	1
GD-BADMI1	Graduate Diploma of Business Administration (International)	Postgraduate	2	-	-	\$25,864.00	\$38,796.00	1.5
GD-BIS	Graduate Diploma of Business Information Systems	Postgraduate	2	-	-	\$25,440.00	\$38,160.00	1.5
GD-BUS	Graduate Diploma of Business	Postgraduate	2	-	-	\$25,864.00	\$25,864.00	1
GD-BUSADM3	Graduate Diploma of Business Administration	Postgraduate	2	-	-	\$25,864.00	\$25,864.00	1
GD-CMGT	Graduate Diploma of Construction Management	Postgraduate	3	\$9,050.00	\$9,050.00	\$30,528.00	\$30,528.00	1
GD-COU	Graduate Diploma of Counselling	Postgraduate	2	-	-	\$26,203.20	\$26,203.20	1
GD-DESG	Graduate Diploma of Design	Postgraduate	2	-	-	\$22,903.00	\$22,903.00	1
GD-DSI	Graduate Diploma of Design Strategy and Innovation	Postgraduate	2	-	-	\$23,326.00	\$23,326.00	1
GD-EAMT	Graduate Diploma of Engineering (Advanced Manufacturing Technology)	Postgraduate	3	\$9,050.00	\$9,050.00	\$30,528.00	\$30,528.00	1
GD-ECS	Graduate Diploma of Engineering (Civil Structures)	Postgraduate	3	\$9,050.00	\$9,050.00	\$30,528.00	\$30,528.00	1
GD-ECV	Graduate Diploma of Engineering (Civil)	Postgraduate	3	\$9,050.00	\$9,050.00	\$30,528.00	\$30,528.00	1
GD-EEE	Graduate Diploma of Engineering (Electrical and Electronic)	Postgraduate	3	\$9,050.00	\$9,050.00	\$30,528.00	\$30,528.00	1
GD-FBS	Graduate Diploma of Forensic Behavioural Science	Postgraduate	3	\$6,349.00	\$6,349.00	\$26,203.20	\$26,203.20	1
GD-FINBAN	Graduate Diploma of Finance and Banking	Postgraduate	2	-	-	\$25,864.00	\$25,864.00	1
GD-FMHN	Graduate Diploma of Forensic Mental Health Nursing	Postgraduate	2	-	-	\$26,203.20	\$26,203.20	1
GD-HRM	Graduate Diploma of Human Resource Management	Postgraduate	2	-	-	\$25,864.00	\$25,864.00	1
GD-ISM1	Graduate Diploma of Information Systems Management	Postgraduate	2	-	-	\$25,493.00	\$38,239.50	1.5
GD-IT1	Graduate Diploma of Information Technology	Postgraduate	3	\$9,050.00	\$13,575.00	\$26,076.00	\$39,114.00	1.5
GD-MCO	Graduate Diploma of Media and Communication	Postgraduate	2	-	-	\$22,480.00	\$22,480.00	1
GD-MGT	Graduate Diploma of Management	Postgraduate	2	-	-	\$25,864.00	\$25,864.00	1
GD-MKT	Graduate Diploma of Marketing	Postgraduate	2	-	-	\$25,864.00	\$25,864.00	1
GD-PACC	Graduate Diploma of Professional Accounting	Postgraduate	3	\$10,596.00	\$10,596.00	\$25,864.00	\$25,864.00	1
GD-PM	Graduate Diploma of Project Management	Postgraduate	2	-	-	\$25,705.00	\$25,705.00	1
GD-PSYFOR	Graduate Diploma in Forensic Psychology	Postgraduate	2	-	-	\$26,203.20	\$26,203.20	1

Course Code	Course Name	Course Level	Course fee type 1-CSP 2-FFP 3-BOTH	2017 Indicative Annual student contribution amount for a Commonwealth Supported place	2017 Indicative Course contiribution amount for a Commonwealth Supported Place (CSP)	2017 Indicative Annual tuition fee for a Domestic Fee- paying place (FFP)	2017 Indicative Course tuition fee for a Domestic Fee- paying place (FFP)	Duration (Standard Years)
GD-SASTRO	Graduate Diploma of Science (Astronomy)	Postgraduate	2	-	-	\$19,520.00	\$19,520.00	1
GD-SCAS3	Graduate Diploma of Science (Applied Statistics)	Postgraduate	2	-	-	\$20,800.00	\$20,800.00	1
GD-SCBIO	Graduate Diploma of Science (Biotechnology)	Postgraduate	2	-	-	\$27,160.00	\$27,160.00	1
GD-SSCHSC	Graduate Diploma of Social Science (Human Services - Counselling)	Postgraduate	2	-	-	\$26,203.20	\$26,203.20	1
GD-TECBS2	Graduate Diploma of Technology (Business Systems)	Postgraduate	2	-	-	\$25,546.00	\$38,319.00	1.5
MA-AMKT	Master of Marketing (Advanced)	Postgraduate	2	-	-	\$25,864.00	\$51,728.00	2
MA-ARTWRI	Master of Arts (Writing)	Postgraduate	2	-	-	\$22,480.00	\$33,720.00	1.5
MA-AVHF	Master of Aviation (Human Factors)	Postgraduate	2	-	-	\$26,461.00	\$39,401.00	1.5
MA-AVMGT	Master of Aviation (Management)	Postgraduate	2	-	-	\$26,461.00	\$39,401.00	1.5
MA-BADMI	Master of Business Administration (International)	Postgraduate	2	-	-	\$25,758.00	\$51,516.00	2
MA-BADMIL	Master of Business Administration (International) - Global Leadership Program	Postgraduate	2	-	-	\$25,864.00	\$51,728.00	2
MA-BIS	Master of Business Information Systems	Postgraduate	2	-	-	\$25,440.00	\$50,880.00	2
MA-BUSADM3	Master of Business Administration	Postgraduate	2	-	-	\$25,864.00	\$38,796.00	1.5
MA-BUSADM3S	Master of Business Administration	Postgraduate	2	-	-	\$25,864.00	\$38,796.00	1.5
MA-CIMGT	Master of Construction and Infrastructure Management	Postgraduate	3	\$9,050.00	\$13,575.00	\$30,528.00	\$61,056.00	2
MA-CMGT	Master of Construction Management	Postgraduate	3	\$9,050.00	\$13,575.00	\$30,528.00	\$45,792.00	1.5
MA-COU	Master of Counselling	Postgraduate	2	-	-	\$26,203.20	\$39,304.80	1.5
MA-DESG	Master of Design	Postgraduate	2	-	-	\$22,903.00	\$45 <i>,</i> 806.00	2
MA-DSI	Master of Design Strategy and Innovation	Postgraduate	2	-	-	\$23,326.00	\$34,989.00	1.5
MA-EAMT	Master of Engineering (Advanced Manufacturing Technology)	Postgraduate	3	\$9,050.00	\$13,575.00	\$30,528.00	\$45,792.00	1.5
MA-ECS	Master of Engineering (Civil Structures)	Postgraduate	3	\$9,050.00	\$13,575.00	\$30,528.00	\$45,792.00	1.5
MA-ECV	Master of Engineering (Civil)	Postgraduate	3	\$9,050.00	\$13,575.00	\$30,528.00	\$45,792.00	1.5
MA-EEE	Master of Engineering (Electrical and Electronic)	Postgraduate	3	\$9,050.00	\$13,575.00	\$30,528.00	\$45,792.00	1.5
MA-ENTINN4	Master of Entrepreneurship and Innovation	Postgraduate	2	-	-	\$29,200.00	\$42,549.00	1.5
MA-EPRE	Master of Professional Engineering	Postgraduate	2	-	-	\$30,528.00	\$61,056.00	2
MA-ESAMT	Master of Engineering Science (Advanced Manufacturing Technology)	Postgraduate	3	\$9,050.00	\$18,100.00	\$30,528.00	\$61,056.00	2
MA-ESCS	Master of Engineering Science (Civil Structures)	Postgraduate	3	\$9,050.00	\$18,100.00	\$30,528.00	\$61,056.00	2
MA-ESCV	Master of Engineering Science (Civil)	Postgraduate	3	\$9,050.00	\$18,100.00	\$30,528.00	\$61,056.00	2
MA-ESEE	Master of Engineering Science (Electrical and Electronic)	Postgraduate	3	\$9,050.00	\$18,100.00	\$30,528.00	\$61,056.00	2
MA-ESNST	Master of Engineering Science (Network Systems and Telecommunications)	Postgraduate	2	-	-	\$29,256.00	\$58,512.00	2
MA-FBS	Master of Forensic Behavioural Science	Postgraduate	3	\$6,349.00	\$9,523.00	\$26,203.20	\$39,304.80	1.5
MA-FINBAN	Master of Finance and Banking	Postgraduate	2	-	-	\$25,864.00	\$38,796.00	1.5
MA-HRM	Master of Human Resource Management	Postgraduate	2	-	-	\$25,864.00	\$38,796.00	1.5
MA-HRMADV	Masters of Human Resource Management (Advanced)	Postgraduate	2	-	-	\$25,864.00	\$51,728.00	2
MA-HRMPRO	Masters of Human Resource Management (Professional)	Postgraduate	2	-	-	\$25,864.00	\$51,728.00	2

Course Code	Course Name	Course Level	Course fee type 1-CSP 2-FFP 3-BOTH	2017 Indicative Annual student contribution amount for a Commonwealth Supported place	2017 Indicative Course contiribution amount for a Commonwealth Supported Place (CSP)	2017 Indicative Annual tuition fee for a Domestic Fee- paying place (FFP)	2017 Indicative Course tuition fee for a Domestic Fee- paying place (FFP)	Duration (Standard Years)
MA-ISM2	Master of Information Systems Management	Postgraduate	2	-	-	\$25,493.00	\$50,986.00	2
MA-IT1	Master of Information Technology	Postgraduate	3	\$9,050.00	\$18,100.00	\$26,076.00	\$52,152.00	2
MA-MBAADV	Master of Business Administration (Advanced)	Postgraduate	2	-	-	\$25,811.00	\$51,622.00	2
MA-MCO	Master of Media and Communication	Postgraduate	2	-	-	\$22,480.00	\$44,960.00	2
MA-MEIADV	Master of Entrepreneurship and Innovation (Advanced)	Postgraduate	2	-	-	\$29,200.00	\$55,481.00	2
MA-MEIPRO	Master of Entrepreneurship and Innovation (Professional)	Postgraduate	2			\$29,200.00	\$55,481.00	2
MA-MFBPRO	Master of Finance and Banking (Professional)	Postgraduate	2	-	-	\$25,864.00	\$51,728.00	2
MA-MFBADV	Master of Finance and Banking (Advanced)	Postgraduate	2	-	-	\$25,864.00	\$51,728.00	2
MA-MFBGLP	Master of Finance and Banking - Global Leadership Program	Postgraduate	2	-	-	\$25,864.00	\$51,728.00	2
MA-MKT	Master of Marketing	Postgraduate	2	-	-	\$25,864.00	\$38,796.00	1.5
MA-MKTGLP	Master of Marketing - Global Leadership Program	Postgraduate	2	-	-	\$25,864.00	\$51,728.00	2
MA-MKTP	Master of Marketing (Professional)	Postgraduate	2	-	-	\$25,864.00	\$51,728.00	2
MA-OCC	Master of Occupational Therapy	Postgraduate	3	\$9,050.00	\$18,100.00	\$25,600.00	\$51,200.00	2
MA-PACC	Master of Professional Accounting	Postgraduate	3	\$10,596.00	\$15,894.00	\$25,864.00	\$38,796.00	1.5
MA-PACCL	Master of Professional Accounting - Global Leadership Program	Postgraduate	3	\$10,596.00	\$23,841.00	\$25,864.00	\$58,194.00	2
MA-PACCS	Master of Professional Accounting	Postgraduate	3	\$10,596.00	\$15,894.00	\$25,864.00	\$38,796.00	1.5
MA-PM	Master of Project Management	Postgraduate	2	-	-	\$25,705.00	\$38,557.50	1.5
MA-PMADV	Master of Project Management (Advanced)	Postgraduate	2	-	-	\$25,705.00	\$51,516.00	2
MA-PMPRO	Master of Project Management (Professional)	Postgraduate	2	-	-	\$25,705.00	\$51,516.00	2
MA-PRACC	Master of Practising Accounting	Postgraduate	2	-	-	\$25,864.00	\$51,728.00	2
MA-PSYCLP	Master of Psychology (Clinical Psychology)	Postgraduate	3	\$6,349.00	\$12,698.00	\$26,203.20	\$52,406.40	2
MA-SASTRO	Master of Science (Astronomy)	Postgraduate	2	-	-	\$19,520.00	\$29,280.00	1.5
MA-SCAS3	Master of Science (Applied Statistics)	Postgraduate	2	-	-	\$20,800.00	\$41,600.00	2
MA-SCBIO	Master of Science (Biotechnology)	Postgraduate	2	-	-	\$27,160.00	\$54,320.00	2
MA-SIP	Master of Social Investment and Philanthropy	Postgraduate	2	-	-	\$25,864.00	\$38,796.00	1.5
MA-SIPPRO	Master of Social Investment and Philanthropy (Professional)	Postgraduate	2	-	-	\$25,864.00	\$51,728.00	2
MA-SNS	Master of Science (Network Systems)	Postgraduate	2	-	-	\$27,984.00	\$41,976.00	1.5
MA-SSCHSC	Master of Social Science (Human Services - Counselling)	Postgraduate	2	-	-	\$26,203.20	\$39,304.80	1.5
MA-TEAPRI2	Master of Teaching (Primary)	Postgraduate	3	\$6,349.00	\$12,698.00	\$18,912.00	\$37,824.00	2
MA-TEAPRI3	Master of Teaching (Primary)	Postgraduate	3	\$6,349.00	\$12,698.00	\$18,912.00	\$37,824.00	2
MA-TEASC	Master of Teaching (Secondary)	Postgraduate	3	\$6,349.00	\$12,698.00	\$18,912.00	\$37,824.00	2
MA-TECBS2	Master of Technology (Business Systems)	Postgraduate	2	-	-	\$25,546.00	\$51,092.00	2
MM-ADMEI	Master of Business Administration/ Master of Entrepreneurship & Innovation	Postgraduate	2	-	-	\$27,532.00	\$55,064.00	2
MM-EAMTEI	Master of Engineering (Advanced Manufacturing Technology)/Master of Entrepreneurship and Innovation	Postgraduate	2	-	-	\$30,528.00	\$59,728.00	2
MM-ECVEI	Master of Engineering (Civil) / Master of Entrepreneurship and Innovation	Postgraduate	2	-	-	\$30,528.00	\$59,728.00	2

Course Code	Course Name	Course Level	Course fee type 1-CSP 2-FFP 3-BOTH	2017 Indicative Annual student contribution amount for a Commonwealth Supported place	2017 Indicative Course contiribution amount for a Commonwealth Supported Place (CSP)	2017 Indicative Annual tuition fee for a Domestic Fee- paying place (FFP)	2017 Indicative Course tuition fee for a Domestic Fee- paying place (FFP)	Duration (Standard Years)
MM-ECVCM	Master of Engineering (Civil)/Master of Construction Management	Postgraduate	3	\$9,050.00	\$18,100.00	\$30,528.00	\$61,056.00	2
MM-EEEEI	Master of Engineering (Electrical and Electronic)/Master of Entrepreneurship and		2	-	_	\$30,528.00	\$59,728.00	2
	Innovation	Postgraduate	Z		-			
MM-ISMBA1	Master of Information Systems Management/Master of Business Administration		2	-	_	\$25,652.00	\$51,304.00	2
		Postgraduate	2		-			
DR-CFPSY	Doctor of Psychology (Clinical and Forensic Psychology)	Postgraduate	2	-	-	\$26,203.20		4
DR-TECFBL	Doctor of Philosophy	Postgraduate	2	-	-	\$26,645.00		4
DR-TECHAD	Doctor of Philosophy	Postgraduate	2	-	-	\$26,645.00		4
DR-TECHIN	Doctor of Philosophy	Postgraduate	2	-	-	\$26,645.00		4
DR-HTHSCI	Doctor of Philosophy	Postgraduate	2	-	-	\$26,645.00		4
DR-IS	Doctor of Philosophy	Postgraduate	2	-	-	\$26,645.00		4
DR-BUSPRC	Doctor of Philosophy	Postgraduate	2	-	-	\$26,645.00		4
DR-DES	Doctor of Philosophy	Postgraduate	2	-	-	\$26,645.00		4
DR-PHICP	Doctor of Philosophy (Clinical Psychology)	Postgraduate	2	-	-	\$26,203.20		4
DR-SCI	Doctor of Philosophy	Postgraduate	2	-	-	\$26,645.00		4
DR-HAS	Doctor of Philosophy	Postgraduate	2	-	-	\$26,645.00		4
DR-BUS	Doctor of Philosophy	Postgraduate	2	-	-	\$26,645.00		4
DR-ENG	Doctor of Philosophy	Postgraduate	2	-	-	\$26,645.00		4
DR-ICT	Doctor of Philosophy	Postgraduate	2	-	-	\$26,645.00		4
DR-INTBUS	Doctor of Philosophy	Postgraduate	2	-	-	\$26,645.00		3
DR-INTDES	Doctor of Philosophy	Postgraduate	2	-	-	\$26,645.00		3
DR-INTHAS	Doctor of Philosophy	Postgraduate	2	-	-	\$26,645.00		3
DR-INTHTHS	Doctor of Philosophy	Postgraduate	2	-	-	\$26,645.00		3
DR-INTICT	Doctor of Philosophy	Postgraduate	2	-	-	\$26,645.00		3
DR-INTSCI	Doctor of Philosophy	Postgraduate	2	-	-	\$26,645.00		3
MR-BUS	Master of Business (Research)	Postgraduate	2	-	-	\$26,645.00		2
MR-HTHSCI	Master of Health Sciences (Research)	Postgraduate	2	-	-	\$26,645.00		2
MR-ICT	Master of Information and Communication Technologies (Research)	Postgraduate	2	-	-	\$26,645.00		2
MR-DES	Master of Design (Research)	Postgraduate	2	-	-	\$26,645.00		2
MR-SCI	Master of Science (Research)	Postgraduate	2	-	-	\$26,645.00		2
MR-HAS	Master of Arts (Research)	Postgraduate	2	-	-	\$26,645.00		2
MR-ENG	Master of Engineering (Research)	Postgraduate	2	-	-	\$26,645.00		2
MR-INTBUS	Master of Research	Postgraduate	2	-	-	\$26,645.00		1
MR-INTDES	Master of Research	Postgraduate	2	-	-	\$26,645.00		1
MR-INTHAS	Master of Research	Postgraduate	2	-	-	\$26,645.00		1
MR-INTHTHS	Master of Research	Postgraduate	2	-	-	\$26,645.00		1

Course Code	Course Name	Course Level	Course fee type 1-CSP 2-FFP 3-BOTH	2017 Indicative Annual student contribution amount for a Commonwealth Supported place	Course contiribution amount for a Commonwealth Supported Place	Annual tuition fee for a Domestic Fee- naving place	2017 Indicative Course tuition fee for a Domestic Fee- paying place (FFP)	Duration (Standard Years)
MR-INTICT	Master of Research	Postgraduate	2	-	-	\$26,645.00		1
MR-INTSCI	Master of Research	Postgraduate	2	-	-	\$26,645.00		1